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Time (h)

C1S - P09871
2.0e+09 - slope =5328684  SecP =0.73
1.5e+09
1.0e+09
5.0e+08 o

A4
0.0e+00 4 oo
T T T T T
0 5 10 15 20 25
Time (h)

CAB45 — Q9BRK5
2.0e+09 - slope = 1986137  SecP =0.591
1.5e+09
1.0e+09
5.0e+08 o

A4
0.0e+00 | $°°
T T T T T
0 5 10 15 20 25
Time (h)

CADH2 - P19022
2.0e+09  slope = 588778 SecP = 0.203
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 ° °

T T T T T
0 5 10 15 20 25
Time (h)

CALD1 - Q05682
2.0e+09 - slope =-861047  SecP =0.443
1.5e+09
1.0e+09
5.0e+08 o

@0
s °
0.0e+00
T

Time (h)
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CALU - 043852
1.2 - k=0.0104h™ SigP = 0.579
n=3
0.8
0.4
°
0040 ©
T T T T T
0 5 10 15 20 25
Time (h)
CAN2 - P17655
1.2 - k=0.0062h™ SigP = 0.101
n=7
0.8
0.4
<
0048 °
B T T T T
0 5 10 15 20 25
Time (h)
CAND1 - Q86VP6
1.2 o k=0.0021h™ SigP = 0.102
n=2
0.8 -
0.4
004®° *° °
T T T T T
0 5 10 15 20 25
Time (h)
CAP1 - Q01518
1.2 o k=0.0022h™ SigP = 0.103
n=14
0.8 -
0.4
004&°% o °
T T T T T
0 5 10 15 20 25
Time (h)
CAP2 - P40123
1.2 o k=0.0013h™ SigP = 0.122
n=4
0.8 -
0.4
Rad
o
0.0 ¢ ° °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

CALU - 043852
slope = 1074582 SecP = 0.753
X0 °

Time (h)

CAN2 - P17655

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 379651

SecP = 0.506

Time (h)

CAND1 - Q86VP6

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = -168405 SecP =0.417

Time (h)

CAP1 - Q01518

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = -3190888  SecP = 0.429

0.0e+00 +
T

Time (h)

CAP2 - P40123

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = -441186 SecP =0.401

Time (h)
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CAPZB - P47756
1.2 - k=0.0061h™ SigP = 0.108
n=4
0.8
0.4
*° °
0.0-¢ i
T T T T T
0 5 10 15 20 25
Time (h)
CATB - P07858
1.2 - k=0.0492h™ SigP = 0.841
n=9
0.8
°
0.4 o
o
00-4¢
T T T T T
0 5 10 15 20 25
Time (h)
CATD - P07339
1.2 o k=0.0362h™ SigP = 0.781
n=6
0.8 -
<
0.4
<
o
0.0 4¢°
T T T T T
0 5 10 15 20 25
Time (h)

CATK - P43235

1.2 o k=01536h" SigP = 0.673
n=8
0.8 1 °
°
0.4
°
@
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
CATL1 - PO7711
1.2 o k=0.0453 17" SigP = 0.754
n=1
0.8
°
0.4
o
0.0 ¢

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

CAPZB - P47756
slope = 451776 SecP =0.543
@00 °

Time (h)

CATB - P07858

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 5787496 SecP =0.77

Time (h)

CATD - P07339

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00 o
T

slope = 3055299 SecP =0.758

Time (h)

CATK - P43235

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00 +

slope = 8412781 SecP =0.78

Time (h)

CATL1 - PO7711

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00
T

slope = 1986444 SecP =0.514

rs i

T T T T
0 5 10 15 20 25

Time (h)
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CAZA1 - P52907
1.2 - k=0.0029h™ SigP = 0.102
n=5
0.8 4
0.4
004 ° M
T T T T T
0 5 10 15 20 25
Time (h)
CAZA2 - P47755
1.2 - k=00511h™ SigP = 0.102
n=4
°
0.8
0.4
006 o
T T T T T
0 5 10 15 20 25
Time (h)
CBR1 - P16152
1.2 o k=00139h™ SigP = 0.166
n=7
0.8
0.4
°
o ©
0.0 ¢
T T T T T
0 5 10 15 20 25

Time (h)

CCD25 - Q86WRO

1.2 o k=01237h™ SigP = 0.127
n=1
0.8 rS
°
0.4
2°
0.0 q¢

Time (h)
CCD80 - Q76M96

1.2 o k=0.0986h™ SigP = 0.775

n=5
0.8

°
°
°

0.4

0
0.0 ¢

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

CAZA1 - P52907
slope = -4340 SecP =0.48
@0 ° °

Time (h)

CAZA2 — P47755

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = -384047 SecP = 0.454

0.0e+00 =
T

Time (h)

CBR1 - P16152

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 1077398 SecP =0.633

Time (h)

CCD25 - Q86WRO

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00 +

slope = 5893749 SecP =0.768

Time (h)

CCD80 - Q76M96

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = 3810312 SecP = 0.206

Time (h)
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CCL2 - P13500 CCL2 - P13500
1.2 4 k=03577h" SigP = 0.935 2.0e+09  slope = 11370624 ~ SecP = 0.956
n=2
1.5e+09 -
0.8 ° qé
° S
o 2 1.0e+09
3
0.4 4
<L 5.0e+08
a4
0.0-¢ 00et00 *°
T T T T T T T T T T
0 5 10 15 20 25 0 5 100 15 20 25
Time (h) Time (h)
CDC37 - Q16543 CDC37 - Q16543
1.2 4 k=0.0084h" SigP = 0.105 2.0e+09 - slope =407015  SecP =0.342
n=6
o 1.5e+09
0.8 e
3
2 1.0e+09
3
0.4 4
< 5.0e+08
<
004Le ¢ 0.0e+00  ¥° ¢ M
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
CDV3 - Q9UKY7 CDV3 - QOUKY7
1.2 - k=0.0051h™ SigP =0.107 2.0e+09 - siope = 724789 SecP =0.441
n=1
o 1.5e+09 o
0.8 =
3
2 1.0e+09
3
0.4 4
< 5.0e+08
. © ° 0 °
0048° 0.0e+00 - °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
CFAB - P00751 CFAB - P00751
1.2 - k=0.1666 " SigP = 0.743 2.0e+09 - siope = 1389617  SecP = 0.457
n=2
° o 1.5e+09
0.8 s
o S
g 1.0e+09 -
3
0.4 H
< 5.0e+08
0.0-4¢ 0.0e+00 - ® ©
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
CFAH - P08603 CFAH - P08603
1.2 4 k=00767h" SigP = 0.911 2.0e+09  slope =798578  SecP =0.399
n=6
o 1.5e+09 o
0.8 ° e
3
% 1.0e+09 -
0.4 ° 2
< 5.0e+08
0.0 o0 0.0e+00 o ¢> ¢ ®
T T T T T T T T T T
0 5 100 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
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CH10 - P61604 CH10 - P61604
1.2 - k=0.0156h" SigP = 0.213 2.0e+09  slope =1594999  SecP =0.57
n=4
o 1.5e+09
0.8 - e
S
2 1.0e+09
3
0.4 4
° < 5.0e+08
. °
PR
00 ° 0.0e+00
T T T T T T T T T T
0 5 10 15 20 25 0 5 100 15 20 25
Time (h) Time (h)
CH3L1 - P36222 CH3L1 - P36222
1.2 4 k=0.1377h" SigP = 0.85 2.0e+09 - slope = 24629285  SecP =0.645
n=7
o 1.5e+09
°
0.8 e
° 3
2 1.0e+09 H
3
0.4 1 Y
< 5.0e+08
©
o . o
0.0 4¢ 0.0e+00 4 ¢
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
CHID1 - Q9BWS9 CHID1 - Q9BWS9
1.2 - k=0.0056h"* SigP = 0.848 2.0e+09 - siope = 1504000  SecP =0.733
n=2
o 1.5e+09 o
0.8 2
3
2 1.0e+09 H
3
0.4 4
< 5.0e+08
°
004 © 0.0e+00 °® M
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
CHM4B - Q9H444 CHM4B - Q9H444
1.2 - k=0.0237h" SigP = 0.127 2.0e+09 - siope = -485616  SecP =0.134
n=2
o 1.5e+09 o
0.8 s
<
% 1.0e+09
< o
0.4 H
< 5.0e+08
° o
0.0 &° 0.0e+00 ° °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
CHMP3 - Q9Y3E7 CHMP3 - Q9Y3E7
1.2 4 k=15058 0™ SigP = 0.104 2.0e+09 - slope = 361688 SecP = 0.072
n=1
o 1.5e+09 o
o
0.8 - c
° ° ° ©
° T 1.0e+09
c
3
0.4
< 5.0e+08
0.0-e 0.0e+004 °° © °
T T T T T T T T T T
0 5 100 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
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CHRD1 - Q9UHD1
1.2 - k=0.0007h™ SigP = 0.107
n=2
0.8
0.4
000 * °
T T T T T
0 5 10 15 20 25
Time (h)
CISY - 075390
1.2 - k=0.0361h™ SigP = 0.333
n=1
0.8
°
0.4
o
o o
°
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
CK068 — Q9H3H3
1.2 o k=0.0128h" SigP = 0.106
n=1
0.8
0.4
6o ©
o
°
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
CKAP4 - Q07065
1.2 - k=0001 h* SigP = 0.102
n=12
0.8
0.4
0
0.0 q¢ ° °
T T T T T
0 5 10 15 20 25
Time (h)
CLCB - P09497
1.2 o k=0.0004h SigP =0.107
n=2
0.8
0.4
0.0 @0 o °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

CHRD1 - Q9UHD1
2.0e+09 - slope = 549193 SecP =0.521
1.5e+09
1.0e+09
5.0e+08
0.0e+00 4 9¢— ¢ d

T T T T T
0 5 100 15 20 25
Time (h)

CISY - 075390
2.0e+09 - slope = 177881 SecP =0.57
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 - ®& < °

T T T T T
0 5 10 15 20 25
Time (h)

CK068 — Q9H3H3
2.0e+09 7 slope = 73386 SecP =0.761
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 4 % ¢ hd

T T T T T
0 5 10 15 20 25
Time (h)

CKAP4 - Q07065
2.0e+09 o slope = 7208450  SecP =0.627
1.5e+09
1.0e+09
5.0e+08 o

°
0.0e+00 4 ®° ©
T T T T T
0 5 10 15 20 25
Time (h)

CLCB - P09497
2.0e+09 - slope = 1574046 SecP =0.936
1.5e+09
1.0e+09
5.0e+08 o

a4
0.0e+00 4 *° ¢

Time (h)
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CLH1 - Q00610
1.2 - k=0.0034h™ SigP = 0.103
n=10
0.8 o
0.4
o0& ° °
T T T T T
0 5 10 15 20 25
Time (h)
CLIC1 - 000299
1.2 - k=00135h" SigP = 0.198
n=3
0.8
0.4
<
0y ©
004¢
T T T T T
0 5 10 15 20 25
Time (h)
CLIC4 - Q9Y696
1.2 o k=0.0058h™ SigP = 0.127
n=3
0.8 -
0.4
° <
<
0048
T T T T T
0 5 10 15 20 25

Time (h)

CLUS - P10909

1.2 o k=0.2524h" SigP = 0.842
n=4
°
0.8 1 o
04+ o
0.0 q¢

Time (h)
CNN1 - P51911

1.2 o k=0.0489h" SigP = 0.105

n=3
0.8

°
°

0.4 %
0.0 ¢ ¢

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

CLH1 - Q00610
slope = 1050042 SecP =0.437
XS 4 <

Time (h)

CLIC1 - 000299

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = -1807018  SecP = 0.395

Time (h)

CLIC4 - Q9Y696

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = -471193 SecP =0.612

Time (h)

CLUS - P10909

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 11755536  SecP = 0.826

0.0e+00 +
T

Time (h)

CNN1 - P51911

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00
T

slope = 372211 SecP = 0.499

Time (h)
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CO1A1 - P02452
1.2 - k=0.04940" SigP = 0.859
n=230
0.8
°
0.4 4
004¢°
T T T T T
0 5 10 15 20 25
Time (h)
CO1A2 - P08123
1.2 - k=0.1066 ™ SigP = 0.804
n=22
0.8 o
<
0.4
<
$
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
CO3A1 - P02461
1.2 o k=00431h" SigP = 0.866
n=12
0.8
°
0.4
<
°
0046°
T T T T T
0 5 10 15 20 25
Time (h)
CO4A2 - P08572
1.2 o k=0.0749h™ SigP =0.74
n=7
0.8 °
°
0.4
<
0.0-¢
T T T T T
0 5 10 15 20 25
Time (h)
CO5A1 - P20908
1.2 o k=0021 h* SigP = 0.783
n=5
0.8
0.4 °
o <
0.0 {¢®
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

CO1A1 - P02452

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

slope = 51837304

SecP =0.206

°

0 5 10 15 20 25

Time (h)

CO1A2 - P08123

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = 19280963  SecP = 0.337

0.0e+00 =
T

Time (h)

CO3A1 - P02461

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 11853525  SecP =0.255

Time (h)

CO4A2 - P08572

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 1600876 SecP = 0.068

0.0e+00 +
T

Time (h)

CO5A1 - P20908

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = 2684591 SecP =0.053

Time (h)
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CO5A2 - P05997
1.2 - k=0.0988h™ SigP = 0.875
n=4
08 o
°
0.4 o o
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
CO6AL - P12109
1.2 - k=0.0386h™ SigP = 0.746
n=8
0.8
°
0.4
°
o
0.0 {4
T T T T T
0 5 10 15 20 25
Time (h)
CO6A2 - P12110
1.2 o k=0.0387h™ SigP = 0.847
n=8
0.8
<
0.4
<
0.0 {2
T T T T T
0 5 10 15 20 25

Time (h)

CO6A3 - P12111

1.2 o k=0.0376h™" SigP = 0.863
n=40
0.8
<
0.4
<
0048
T T T T T
0 5 10 15 20 25
Time (h)
COCAL - Q99715
1.2 o k=0.0366h" SigP = 0.781
n=25
0.8
°
0.4
o <
<
0.04¢

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

CO5A2 - P05997
slope = 3101597 SecP =0.078
oo d

Time (h)

CO6A1 - P12109

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 11393954  SecP =0.234

Time (h)

CO6A2 - P12110

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 8707107 SecP =0.214

Time (h)

CO6A3 - P12111

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 4924761 SecP =0.321

0.0e+00 +
T

Time (h)

COCA1L - Q99715

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = 3784063 SecP =0.332

Time (h)
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COF1 - P23528
1.2 - k=0.0012h™ SigP = 0.102
n=10
0.8
0.4
0.0 < °
T T T T T
0 5 10 15 20 25
Time (h)
COF2 - Q9Y281
1.2 - k=0.0054h™ SigP = 0.099
n=5
0.8
0.4
° °
00000 —°
T T T T T
0 5 10 15 20 25
Time (h)
COPA - P53621
1.2 o k=00136h™ SigP = 0.113
n=8
0.8
0.4
° °
°
o
oode ¢
T T T T T
0 5 10 15 20 25
Time (h)
COPB2 - P35606
1.2 o k=0.0036h™ SigP =0.104
n=9
0.8
0.4
008> ° °
oo T T T T
0 5 10 15 20 25
Time (h)
COPD - P48444
1.2 o k=0.0061h" SigP = 0.254
n=10
0.8
0.4
°
X °
0.0
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

COF1 - P23528
2.0e+09  slope = 6801320  SecP =0.628
1.5e+09
1.0e+09 ° °

IS
5.0e+08
0.0e+00 =
T T T T T
0 5 100 15 20 25
Time (h)

COF2 - Q9Y281
2.0e+09 - slope=-39596  SecP =0.683
1.5e+09
1.0e+09
5.0e+08 o
0.0e+004 & @ °

T T T T T
0 5 10 15 20 25
Time (h)

COPA - P53621
2.0e+09 - slope =-839211  SecP =0.331
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 4§ ¢ °

T T T T T
0 5 10 15 20 25
Time (h)

COPB2 - P35606
2.0e+09  slope = 76462 SecP = 0.458
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 | ®¢ °

T T T T T
0 5 10 15 20 25
Time (h)

COPD - P48444

2.0e+09 - slope = 1256949  SecP = 0.256
1.5e+09

1.0e+09

5.0e+08 o

0.0e+00 | ®*° °

Time (h)
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COPG1 - Q9Y678
1.2 - k=0.0042h™ SigP = 0.104
n=5
0.8 4
0.4
°
0.0
T T T T T
0 5 10 15 20 25
Time (h)
COR1B - Q9BR76
1.2 - k=0.0014h* SigP = 0.104
n=6
0.8
0.4
0.0 (@0 o °©
T T T T T
0 5 10 15 20 25
Time (h)
CORIC - Q9ULV4
1.2 o k=0.0008h™ SigP = 0.103
n=11
0.8
0.4
°
0.0 00 < 4
T T T T T
0 5 10 15 20 25

Time (h)

CPNS1 - P04632

1.2 o k=0.0016h™ SigP = 0.191
n=1

0.8

0.4

004 —© ©
T T T T T
0 5 10 15 20 25

Time (h)
CRK - P46108

1.2 o k=0.0013h™ SigP = 0.126
n=2

0.8

0.4

0.0-4®0 © °

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

COPG1 - Q9Y678
2.0e+09  slope =-235509  SecP =0.381
1.5e+09
1.0e+09
5.0e+08
0.0e+00 | @0 ¢ A4

T T T T T
0 5 100 15 20 25
Time (h)

COR1B - Q9BR76
2.0e+09 - slope = 1908237  SecP = 0.508
1.5e+09
1.0e+09
5.0e+08 o

°
0.0e+00 4 ®°©
T T T T T
0 5 10 15 20 25
Time (h)

CORI1C - QoULV4
2.0e+09 - slope = 2849194  SecP =0.584
1.5e+09
1.0e+09
5.0e+08 o

°
@0
0.0e+00 o °
T T T T T
0 5 10 15 20 25
Time (h)
CPNS1 - P04632
2.0e+09  slope = 154059 SecP = 0.825
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00q ® ¢ A4
T T T T T
0 5 10 15 20 25
Time (h)
CRK - P46108
2.0e+09 - slope = -55542 SecP = 0.467
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 4 ©¢ 0 hd
T

Time (h)
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CRKL - P46109
1.2 o k=0.0296h™ SigP = 0.112
n=2
0.8 4
°
0.4
0049 °
T T T T T
0 5 10 15 20 25
Time (h)
CSPG2 - P13611
1.2 - k=0.0933h™ SigP = 0.7
n=1
0.8 ®
0.4 S
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
CSRP1 - P21291
1.2 o k=0.0075h" SigP = 0.138
n=8
0.8
0.4
° °
0.0 1 <I§°°

T T T T
5 10 15 20 25

Time (h)

CSTN1 - 094985

1.2 o k=0.2088h™" SigP = 0.83
n=11
0.8 °
°
044 o
0.0-¢

Time (h)
CTGF - P29279
1.2 o k=01135hn" SigP = 0.879
n=5
0.8
°
°
044 o
0.04®

T T T T T
5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

CRKL - P46109
slope = -579329 SecP =0.624
© < ©

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

Time (h)
CSPG2 - P13611
slope = -75556 SecP =0.46
< i

0.0e+00 =
T

0 5 10 15 20 25

Time (h)

CSRP1 - P21291

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = 2058415 SecP =0.246

0.0e+00 o
T

Time (h)

CSTN1 - 094985

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 3179871 SecP =0.436

0.0e+00 +
T

Time (h)

CTGF - P29279

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = 966069 SecP =0.722

Time (h)
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CTHR1 - Q96CG8

1.2 - k=0.0188h™ SigP = 0.892

n=4
0.8
0.4 °
0040 °

T T T T T

5 10 15 20 25
Time (h)
CYTB - P04080

1.2 - k=0.0003h™ SigP = 0.102

n=1
0.8
0.4
0.0 {0 < o

T T T T T

0 5 10 15 20 25

Time (h)
CYTC - P01034

1.2 o k=01434h" SigP = 0.898

n=3
0.8 °

°
0.4
o

0.04®

Time (h)

DAB2 — P98082

1.2 o k=0.0014h™ SigP = 0.106
n=5
0.8
0.4
004®% © °
T T T T T
0 5 10 15 20 25
Time (h)
DAG1 - Q14118
1.2 o k=0.1949h SigP = 0.824
n=5
0.8
<
°
044 ©
0.0 ¢

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

CTHR1 - Q96CG8

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

slope = 18576328  SecP =0.704

Time (h)

CYTB - P04080

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = 1583264

SecP =0.333

0.0e+00 =
T

Time (h)

CYTC - P01034

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 26587507  SecP =0.937
a4
©
<

Time (h)

DAB2 - P98082

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00 +

slope = 384654 SecP =0.286

Time (h)

DAG1 - Q14118

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00
T

slope = 4182750 SecP =0.11

Time (h)
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DBNL - Q9UJU6
1.2 - k=0.0008 ™ SigP = 0.108
n=5
0.8
0.4
0.0 |0 ¢ i
T T T T T
0 5 10 15 20 25
Time (h)
DC1I2 - Q13409
1.2 - k=0.0054h™ SigP = 0.108
n=4
0.8
0.4
o o °
0017 <|¢ T T T T
0 5 10 15 20 25
Time (h)
DC1L2 - 043237
1.2 o k=0.0002h™ SigP = 0.129
n=4
0.8 -
0.4
0.0 ¢ °
T T T T T
0 5 10 15 20 25
Time (h)

DDX1 - Q92499

1.2 o k=0.0023h™" SigP = 0.144
n=8
0.8
0.4
°
006> °
T T T T T
0 5 10 15 20 25
Time (h)
DDX3X — 000571
1.2 o k=0.0018h" SigP = 0.115
n=5
0.8
0.4
004 o °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

DBNL - Q9UJU6
slope = 1482000 SecP =0.773
@ © °

Time (h)

DC112 - Q13409

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 876762 SecP =0.226

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

Time (h)
DC1L2 - 043237
slope = 677855 SecP =0.281
®0—o °

T

Time (h)

DDX1 - Q92499

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00 +

slope = -462494 SecP =0.324

Time (h)

DDX3X - 000571

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = -752905 SecP =0.099

Time (h)
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DEST - P60981
1.2 - k=0.0049h™ SigP = 0.102
n=4
0.8 4
0.4
°
0.04®° °
T T T T T
0 5 10 15 20 25
Time (h)
DJB11 - Q9UBS4
1.2 - k=0.0035h™ SigP = 0.886
n=3
0.8
0.4
°
00-Heo ° °
T T T T T
0 5 10 15 20 25
Time (h)
DKK1 - 094907
1.2 o k=00722h™ SigP = 0.584
n=1
0.8 -
°
0.4 °
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)

DLRB1 - Q9NP97

1.2 o k=0.0032h™ SigP = 0.105
n=1
0.8
0.4
004 —*° °
T T T T T
0 5 10 15 20 25
Time (h)
DPYL2 - Q16555
1.2 o k=0.0004h SigP = 0.119
n=7
0.8
0.4
0.0 {¢¥0 o °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

DEST - P60981
slope = 222296 SecP =0.622
@0 o °

Time (h)

DJB11 - Q9UBS4

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = 769957

SecP =0.707

0.0e+00 =
T

Time (h)

DKK1 - 094907

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00 o
T

slope = 796778 SecP = 0.952

0 5 10 15 20 25

Time (h)

DLRB1 — Q9NP97

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 2264454 SecP =0.925

0.0e+00 +
T

Time (h)

DPYL2 - Q16555

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00
T

slope = 3976667 SecP =0.411

Time (h)
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DPYL3 - Q14195
1.2 - k=0.0011h™ SigP = 0.12
n=6
0.8
0.4
0.0 < °
T T T T T
0 5 10 15 20 25
Time (h)
DREB - Q16643
1.2 - k=0.0049h™ SigP = 0.149
n=7
0.8
0.4
°
o o
0040 °
T T T T T
0 5 10 15 20 25
Time (h)
DX39B - Q13838
1.2 o k=0.0027h* SigP =0.1
n=2
0.8
0.4
000 ° °
T T T T T
0 5 10 15 20 25
Time (h)

DYHC1 - Q14204

1.2 o k=0.0032h™ SigP = 0.103
n=26

0.8

0.4
S0

00do o °

Time (h)
ECHM - P30084

1.2 o k=0.0024h™ SigP =0.271

n=3
0.8 -
0.4
0040 @ °

T T T T T

0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

DPYL3 - Q14195
slope = -560868 SecP =0.444
@y °

Time (h)

DREB - Q16643

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 1449437 SecP =0.091

Time (h)

DX39B - Q13838

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = -350881 SecP = 0.509

Time (h)

DYHC1 - Q14204

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00 +

slope = -700658 SecP =0.368

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

Time (h)

ECHM - P30084
slope = 376980 SecP = 0.855
®O & ©
T

Time (h)
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ECM1 - Q16610
1.2 - k=00771h™ SigP = 0.734
n=8
0.8 °
0.4 °
8°
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
EDF1 - 060869
1.2 - k=0.0043h* SigP = 0.105
n=1
0.8
0.4
°
0.0 {0 °
T T T T T
0 5 10 15 20 25
Time (h)
EEAL - Q15075
1.2 o k=0.0079h™ SigP = 0.104
n=26
0.8 -
0.4
°
°
0048
T T T T T
0 5 10 15 20 25

Time (h)

EF1Al1 - P68104

1.2 o k=0.0008h™ SigP =0.116
n=10
0.8
0.4
000 o °
T T T T T
0 5 10 15 20 25
Time (h)
EF1B — P24534
1.2 o k=0.0879h™ SigP = 0.105
n=4
°
0.8
0.4 °
o
004
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

ECM1 - Q16610
slope = 13072588  SecP =0.711
g
oS <
T

Time (h)

EDF1 - 060869

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 1658095 SecP = 0.665

Time (h)

EEAL - Q15075

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = -61536 SecP =0.11

Time (h)

EF1A1 - P68104

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = -5601365  SecP =0.155
L4

<
o o °

0.0e+00 +
T

Time (h)

EF1B - P24534

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00
T

slope = 144842219 SecP = 0.562

T T T T
0 5 10 15 20 25

Time (h)



RIA

RIA

RIA

RIA

RIA

page 29 of 110

EF1G - P26641
1.2 - k=0.0239h™ SigP = 0.126
n=7
0.8
0.4
° °
o
0046
T T T T T
5 10 15 20 25
Time (h)
EF2 - P13639
1.2 - k=0.0019h™ SigP = 0.109
n=15
0.8
0.4
°
0.0 °
T T T T T
0 5 10 15 20 25
Time (h)
EIF1 - P41567
1.2 o k=0.0022h™ SigP = 0.119
n=2
0.8
0.4
°
0.0 {&*° °
T T T T T
0 5 10 15 20 25
Time (h)
EIF3A - Q14152
1.2 o k=0.0081h™ SigP = 0.108
n=9
0.8
0.4
°
&° °
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
EIF3D - 015371
1.2 o k=0.0416h" SigP =0.112
n=4
0.8
°
0.4
°
004¢”°
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

EF1G - P26641
2.0e+09  slope = -2369571  SecP =0.353
1.5e+09
1.0e+09
5.0e+08

»
0.0e+004 ¢ ¢ °
T T T T T
0 5 100 15 20 25
Time (h)

EF2 - P13639
2.0e+09 - slope =-841820  SecP =0.38
1.5e+09
1.0e+09 -
5.0e+08 o

0 °
°
0.0e+00 =
T T T T T
0 5 10 15 20 25
Time (h)

EIF1 - P41567
2.0e+09 - slope = -1467262  SecP =0.718
1.5e+09
1.0e+09 -
5.0e+08 o
0.0e+004 ¥ ¢ °

T T T T T
0 5 10 15 20 25
Time (h)

EIF3A - Q14152
2.0e+09  slope = 415129 SecP = 0.342
1.5e+09 -
1.0e+09
5.0e+08 o
0.0e+00 | @O ¢ A

T T T T T
0 5 10 15 20 25
Time (h)

EIF3D — 015371
2.0e+09 - slope = 658411 SecP =0.203
1.5e+09 -
1.0e+09
5.0e+08 o
0.0e+00 | ®o© °

T

Time (h)
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EIF3H - 015372
1.2 - k=0.0018h™ SigP = 0.105
n=3
0.8
0.4
0.0 &% ©
T T T T T
0 5 10 15 20 25
Time (h)
EIF3I — Q13347
1.2 - k=0.0389h™ SigP = 0.102
n=4
0.8
<
0.4 °
&°
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
ELOB - Q15370
1.2 o k=0.0103h™ SigP = 0.102
n=1
0.8
0.4
° <
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)

ELOC - Q15369

1.2 o k=0.0009 h™ SigP = 0.101
n=2
0.8
0.4
0.0 {0 © °
T T T T T
0 5 10 15 20 25
Time (h)
EMALS - Q05BV3
1.2 o k=03106h" SigP = 0.127
n=1
°
0.8 °
o
0.4
°
0.0 ¢

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

EIF3H — 015372
2.0e+09 - slope = -51029 SecP =0.702
1.5e+09
1.0e+09
5.0e+08
0.0e+00 4 ®° ¢ °

T T T T T
0 5 100 15 20 25
Time (h)

EIF3I — Q13347
2.0e+09 - slope = -362701  SecP =0.54
1.5e+09
1.0e+09 -
5.0e+08 o
0.0e+00 | ®¢ o °

T T T T T
0 5 10 15 20 25
Time (h)

ELOB - Q15370
2.0e+09 - slope = 1891167  SecP =0.571
1.5e+09
1.0e+09 -
5.0e+08 o
0.0e+00 ° °

T T T T T
0 5 10 15 20 25
Time (h)

ELOC - Q15369
2.0e+09  slope = 388153 SecP = 0.402
1.5e+09 -
1.0e+09
5.0e+08 o
0.0e+00 4 ®° ¢ °

T T T T T
0 5 10 15 20 25
Time (h)

EMALS - Q05BV3
2.0e+09  slope = 85809845  SecP = 0.29
1.5e+09 -
1.0e+09
5.0e+08 #

oo

0.0e+00
T

Time (h)
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EMIL1 - Q9Y6C2 EMIL1 - Q9Y6C2
1.2 - k=0.0611h" SigP = 0.784 2.0e+09 o siope =1596444  SecP =0.239
n=1
o 1.5e+09
0.8 - e
© [
'g 1.0e+09
3
0.4 o
<L 5.0e+08
0.0 4¢ 0.0e+00 ° M
T T T T T T T T T T
0 5 10 15 20 25 0 5 100 15 20 25
Time (h) Time (h)
ENOA - P06733 ENOA - P06733
1.2 4 k=0.0016h"" SigP = 0.114 2.0e+09  slope = 10541445 ~ SecP =0.536
n=10
o 1.5e+09
0.8 e
3
2 1.0e+09 H
3
0.4 4
< 5.0e+08 °
©
o < g
0.0 & ° 0.0e+00 4 ®
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
ENPL - P14625 ENPL - P14625
1.2 4 k=0.0015n" SigP = 0.915 2.0e+09 - siope = -481193  SecP = 0.495
n=7
o 1.5e+09 o
0.8 2
3
2 1.0e+09 H
3
0.4 4
< 5.0e+08
<
004& ° ° 00e+00 4 ®° 0 °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
ENPP2 — Q13822 ENPP2 - Q13822
1.2 4 k=0.1207h™ SigP = 0.385 2.0e+09 - siope = 1183667  SecP = 0.488
n=1
o 1.5e+09 o
0.8 ° e
S
° g 1.0e+09 -
3
0.4 H
< 5.0e+08
0.0-¢ 0.0e+00 ° ®
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
ESTD - P10768 ESTD - P10768
1.2 4 k=0.0031n™ SigP = 0.104 2.0e+09  slope = 680861  SecP =0.57
n=5
o 1.5e+09 o
0.8 s
3
2 1.0e+09 -
3
0.4
< 5.0e+08
<
0040 ° ° 0.0e+004 ~® ¢ °
T T T T T T T T T T
0 5 100 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
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ESYT1 - Q9BSJ8 ESYT1 - Q9BSJ8
1.2 4 k=0.0106h" SigP = 0.115 2.0e+09  slope =116077  SecP =0.382
n=4
o 1.5e+09
0.8 2
S
2 1.0e+09
3
0.4 4
<L 5.0e+08
6o © °
<o
0.0 0% 0.0e+00 | ®0—o °
T T T T T T T T T T
0 5 10 15 20 25 0 5 100 15 20 25
Time (h) Time (h)
EX3L4 - Q17RC7 EX3L4 - Q17RC7
1.2 4 k=0.0062h" SigP = 0.106 2.0e+09 | slope = 24647567  SecP =0.137
n=1
o 1.5e+09
0.8 ° e
S 10e+09
.Oe+ =
c
Y 3
0.4 °
< 5.0e+08
V4 °
0.0 o0 0.0e+00 4 *°
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
EZRI - P15311 EZRI - P15311
1.2 4 k=0002 h* SigP = 0.11 2.0e+09 - siope = 5388908 SecP = 0.563
n=12
o 1.5e+09 o
0.8 2
3
2 1.0e+09
3
0.4 4
< 5.0e+08
%0 © °
00-& ° 0.0e+00 | ®0 ¢
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
F10A1 - P50502 F10A1 - P50502
1.2 - k=0.0015n" SigP = 0.104 2.0e+09  siope = 1339201 SecP =0.765
n=6
o 1.5e+09 o
0.8 s
S
g 1.0e+09 -
3
0.4 H
< 5.0e+08
004 o ° 0.0e+00 4 ®* ¢ °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
FA21A - Q641Q2 FA21A - Q64102
1.2 4 k=0.0031h™ SigP =0.112 2.0e+09 q slope =155022  SecP=0.117
n=4
o 1.5e+09 o
0.8 s
3
2 1.0e+09 -
3
0.4
< 5.0e+08
<
3
00de " —© ° 0.0e+00 { ®¥o——¢ °
T T T T T T T T T T
0 5 100 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
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FAS - P49327
1.2 - k=0.0031h™ SigP = 0.101
n=11
0.8 4
0.4
3.
004> ° °
T T T T T
0 5 10 15 20 25
Time (h)
FBLN2 — P98095
1.2 - k=00323h™ SigP = 0.88
n=4
0.8
°
0.4
°
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
FBLN3 - Q12805
1.2 o k=01355h" SigP = 0.848
n=4
0.8
°
°
0.4
o
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)

FBLN5 — Q9UBX5

1.2 o k=0.0622h™ SigP = 0.823
n=1
0.8
°
°
0.4
0.0-¢

Time (h)
FBN1 - P35555
1.2 o k=0.0784h SigP = 0.617
n=36
0.8 o
0.4 S
o
0.0 ¢

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

FAS - P49327
slope = 103397 SecP =0.408
PO © ©

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

Time (h)
FBLN2 - P98095
slope = 487833 SecP =0.512
& ©

0.0e+00
T
0 5 10 15 20 25

Time (h)

FBLN3 - Q12805

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00 o
T

slope = 5721531 SecP =0.719

Time (h)

FBLNS5 — Q9UBX5

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 4331444 SecP = 0.807

°

0.0e+00 +
T

0 5 100 15 20 25

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00
T

Time (h)
FBN1 - P35555
slope = 6501085 SecP =0.391
©
v ©

Time (h)
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FBN2 - P35556 FBN2 — P35556
1.2 - k=0.0004n" SigP = 0.844 2.0e+09 o siope =1674222  SecP =0.417
n=7
o 1.5e+09
0.8 o 2
S
2 1.0e+09
y 3
0.4 4
<L 5.0e+08
0.0 ¢ 0.0e+00 ° M
T T T T T T T T T T
0 5 10 15 20 25 0 5 100 15 20 25
Time (h) Time (h)
FGL2 - Q14314 FGL2 - Q14314
1.2 4 k=0.0245h" SigP = 0.668 2.0e+09  slope = 1542500  SecP =0.531
n=2
o 1.5e+09
0.8 e
3
2 1.0e+09 H
3
0.4 4 ©
< 5.0e+08
<
0.0 ¢ 0.0e+00 - © °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
FHL1 — Q13642 FHL1 - Q13642
1.2 - k=0.0004 h™* SigP = 0.111 2.0e+09 - siope = 723818 SecP =0.707
n=4
o 1.5e+09
0.8 2
3
2 1.0e+09 H
3
0.4 4
< 5.0e+08
0.0 {0 ° 0.0e+00 4 ®o ¢ °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
FHL2 — Q14192 FHL2 - Q14192
1.2 - k=0003 h* SigP = 0.102 2.0e+09 o siope =-74052  SecP =0.635
n=8
o 1.5e+09 o
0.8 e
S
g 1.0e+09 -
3
0.4 H
< 5.0e+08
004w —© ° 0.0e+00 4 ®°° °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
FHOD1 - Q9Y613 FHOD1 - Q9Y613
1.2 4 k=00721h" SigP =0.109 2.0e+09  slope =5559260  SecP =0.137
n=2
o 1.5e+09 o
0.8 s
4 ©
ke} .
o 2 1.0e+09
3
0.4
< 5.0e+08
°
0002 0.0e+00 4 —o °
T T T T T T T T T T
0 5 100 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
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FINC - P02751
1.2 - k=0.0854h™ SigP = 0.598
n=38
0.8 °
<
0.4
<
004
T T T T T
5 10 15 20 25
Time (h)
FKB10 — Q96AY3
1.2 - k=0.0053h™ SigP = 0.765
n=2
0.8
0.4
<
004&° °
T T T T T
0 5 10 15 20 25
Time (h)
FKBP2 — P26885
1.2 o k=0.0031h™ SigP = 0.795
n=5
0.8
0.4
0.0 {go0© °
T T T T T
0 5 10 15 20 25
Time (h)
FKBP3 - Q00688
1.2 o k=0.0009 h™ SigP =0.104
n=4
0.8
0.4
0.0 {0 —° °
T T T T T
0 5 10 15 20 25
Time (h)
FKBP4 — Q02790
1.2 o k=0.0062h™ SigP = 0.101
n=2
0.8
0.4
°
0.0 &o °

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

FINC - P02751

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

slope = 86047079  SecP =0.369

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

<
&
T T T T
0 5 100 15 20 25
Time (h)
FKB10 — Q96AY3
slope = 770455 SecP = 0.589
POo o

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

Time (h)
FKBP2 — P26885
slope = 105990 SecP =0.722
oo o

Time (h)

FKBP3 - Q00688

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00 +

slope = 167155 SecP = 0.534

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

Time (h)
FKBP4 - Q02790
slope = 319650 SecP =0.287
@0 © ©

T

Time (h)
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FLNA - P21333
1.2 - k=0.0034h™ SigP = 0.115
n=53
0.8
0.4
00-e° °
T T T T T
0 5 10 15 20 25
Time (h)
FLNB - O75369
124 k=0003 h* SigP = 0.105
n=52
0.8
0.4
004 ° °
T T T T T
0 5 10 15 20 25
Time (h)
FLNC - Q14315
1.2 o k=0.0043 0" SigP = 0.104
n=54
0.8 -
0.4
004& ° °
T

Time (h)

FNDC1 - Q4ZHG4

1.2 o k=0.1026h" SigP = 0.818
n=2
0.8 °
°
0.4
0.0 q¢

Time (h)
FSCN1 - Q16658
1.2 o k=0002 h* SigP =0.114
n=12
0.8 -
0.4
0048 ° °®

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

FLNA - P21333
2.0e+09 | slope = 444166 SecP = 0.446
1.5e+09 H
1.0e+09 +
5.0e+08 +
Do o °
0.0e+00
T T T T T
0 5 100 15 20 25
Time (h)
FLNB - 075369
2.0e+09 7 slope = 864736 SecP = 0.359
1.5e+09 +
1.0e+09
5.0e+08 -
0.0e+00 4 ®° ¢ °

Time (h)

FLNC - Q14315
2.0e+09 - slope = 5491 SecP =0.45
1.5e+09
1.0e+09
5.0e+08

&0 © 4
0.0e+00
T

Time (h)

FNDC1 - Q4ZHG4

2.0e+09 o slope = 1479239 SecP =0.143
1.5e+09
1.0e+09
5.0e+08 o

0.0e+00 ° °
T T T T T
0 5 10 15 20 25

Time (h)
FSCN1 - Q16658

2.0e+09 - slope = 525375 SecP =0.385
1.5e+09
1.0e+09
5.0e+08

P00 A4
0.0e+00

T

Time (h)
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FST - P19883 FST - P19883
1.2 - k=0.1574n" SigP = 0.78 2.0e+09 o siope =-6678404  SecP =0.493
n=8
o 1.5e+09
o
0.8 © _E °
2 1.0e+09
o o 3
044 0 2
<L 5.0e+08
00-e 0.0e+00 4 *° °
T T T T T T T T T T
0 5 10 15 20 25 0 5 100 15 20 25
Time (h) Time (h)
FSTL1 - Q12841 FSTL1 - Q12841
1.2 4 k=0.0823h" SigP = 0.939 2.0e+09 - slope = 12700477  SecP =0.533
n=8
o 1.5e+09
o
0.8 2
’ z
2 1.0e+09 H
N4 >
0.4 2
< 5.0e+08
°
o
o °
0.0 40 0.0e+00 4| ®°
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
G3BP1 - Q13283 G3BP1 - Q13283
1.2 - k=0.0222h™ SigP = 0.111 2.0e+09  siope =321336  SecP =0.496
n=6
o 1.5e+09 o
0.8 2
3
rS 2 1.0e+09 H
3
0.4 4
o < 5.0e+08 -
° °
0.0 0.0e+00 { ®® ¢ °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
G3P - P04406 G3P - P04406
1.2 - k=0.0016 " SigP = 0.14 2.0e+09  siope = -1166663 ~ SecP = 0.467
n=9
o 1.5e+09 o
0.8 s
S
g 1.0e+09 -
3
0.4 H
< 5.0e+08
o,
0040% © ° 00er004 & o °
T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
G6PD - P11413 G6PD - P11413
1.2 4 k=0.0206 ™ SigP = 0.117 2.0e+09 o slope = -1098425 ~ SecP = 0.449
n=8
o 1.5e+09 o
0.8 s
3
2 1.0e+09 -
° 3
0.4
o < 5.0e+08 -
< ©
@
° °
0.0-¢ 0.0e+00 -
T T T T T T T T T T
0 5 100 15 20 25 0 5 10 15 20 25
Time (h) Time (h)
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GALT2 - Q10471
1.2 4 k=00117h" SigP = 0.53
n=6
0.8
0.4
° °
% o
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
GALTS - Q7Z7M9
1.2 - k=0.0422h™ SigP = 0.218
n=5
0.8
<
0.4
<
o0
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
GANAB - Q14697
1.2 o k=0.0009 h™ SigP = 0.564
n=3
0.8
0.4
0.0 ¢ < °
T T T T T
0 5 10 15 20 25
Time (h)
GAS6 - Q14393
1.2 o k=01169h™ SigP = 0.745
n=5
0.8 °
<
0.4
<
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
GBB1 - P62873
1.2 o k=0.0118h" SigP = 0.103
n=3
0.8
0.4
°
°
0.0 oo
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

GALT2 - Q10471
slope = 1232228 SecP = 0.647
®0 O 4

Time (h)

GALTS - Q7Z7M9

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = 1901353

SecP = 0.286

0.0e+00 =
T

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00 o
T

Time (h)
GANAB - Q14697
slope = 285289 SecP = 0.64
L4 & ©

Time (h)

GAS6 — Q14393

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 4517392 SecP = 0.562

0.0e+00 +
T

Time (h)

GBB1 - P62873

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = 130826 SecP =0.42

Time (h)
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GBP1 - P32455
1.2 - k=0.0034h™ SigP = 0.134
n=3
0.8 4
0.4
° °
o0
0.0¢ <o
T T T T T
0 5 10 15 20 25
Time (h)
GDIB - P50395
1.2 - k=0.0023h™ SigP = 0.132
n=9
0.8
0.4
o
°
00-0% ®
T T T T T
0 5 10 15 20 25
Time (h)
GDIR1 - P52565
1.2 - k=0003 h™* SigP = 0.105
n=3
0.8
0.4
004 ° °
B T T T T
0 5 10 15 20 25
Time (h)

GELS - P06396

1.2 o k=0.0049h™ SigP = 0.844
n=5
0.8
0.4
° °
0.0
T T T T T
0 5 10 15 20 25
Time (h)
GFPT1 - Q06210
1.2 o k=0.0017h™ SigP = 0.123
n=3
0.8
0.4
o0& ° °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

GBP1 - P32455
2.0e+09  slope =-812497  SecP =0.193
1.5e+09
1.0e+09
5.0e+08
0.0e+00 | ®* ¢ hd

T T T T T
0 5 100 15 20 25
Time (h)

GDIB - P50395
2.0e+09 - slope = 1563872 SecP =0.315
1.5e+09
1.0e+09
5.0e+08 o

@ o i
0.0e+00 =
T T T T T
0 5 10 15 20 25
Time (h)

GDIR1 - P52565
2.0e+09 - slope = -6181963  SecP = 0.43
1.5e+09
1.0e+09
5.0e+08 o

Do
°
0.0e+00 °
T T T T T
0 5 10 15 20 25
Time (h)

GELS - P06396
2.0e+09  slope = 833883 SecP = 0.553
1.5e+09
1.0e+09
5.0e+08 o

>0 °
0.0e+00 - °
T T T T T
0 5 10 15 20 25
Time (h)

GFPT1 - Q06210
2.0e+09 - slope =-781693  SecP =0.473
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 { ¥° ¢ °

Time (h)
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GIT2 - Q14161
124 k=0 h* SigP = 0.124
n=1
0.8
0.4
00-¢¢ ¢ o
T T T T T
5 10 15 20 25
Time (h)
GLU2B - P14314
1.2 4 k=0.0011h™ SigP = 0.825
n=5
0.8
0.4
0.0 {0 ¢ °
T T T T T
0 5 10 15 20 25
Time (h)
GPC1 - P35052
1.2 o k=00185h" SigP = 0.838
n=1
0.8 -
0.4 °
°
0.0 4
T T T T T
0 5 10 15 20 25
Time (h)
GPNMB - Q14956
1.2 o k=0.0036h™ SigP = 0.654
n=1
0.8 -
0.4
0.0 q¢ © °
T T T T T
0 5 10 15 20 25
Time (h)
GREM1 - 060565
1.2 o k=0.0444n7 SigP = 0.854
n=2
0.8 -
°
0.4 °
®0
0.0 ¢
T T T T T

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H
T

GIT2 - Q14161
slope = 7990917 SecP =0.404
g
s <

Time (h)

GLU2B - P14314

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 1883737

SecP = 0.308

Time (h)

GPC1 - P35052

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

0.0e+00

slope = 717961 SecP =0.33

Time (h)

GPNMB - Q14956

2.0e+09

1.5e+09 H

1.0e+09

5.0e+08

slope = 1990722 SecP =0.242

S °

0.0e+00 +
T

0 5 100 15 20 25

Time (h)

GREML1 - 060565

2.0e+09 +

1.5e+09 H

1.0e+09

5.0e+08

0.0e+00

slope = 1583839 SecP =0.739

Time (h)
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GRHL1 - Q9NZI5
1.2 - k=03703h™ SigP = 0.105
n=1
<
0.8 °
o
0.4
0.0 1¢
T T T T T
0 5 10 15 20 25
Time (h)
GRN - P28799
1.2 - k=0.0643h™ SigP = 0.864
n=8
0.8
°
0.4 °
0046
T T T T T
5 10 15 20 25
Time (h)
GRP78 - P11021
1.2 o k=0.0029 h™ SigP = 0.898
n=19
0.8
0.4
004 ° °
T T T T T
5 10 15 20 25
Time (h)
H4 - P62805
1.2 o k=0.0135h" SigP = 0.099
n=2
0.8
0.4
S ° °
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
HAP28 — Q13442
1.2 o k=0.0012h™ SigP = 0.108
n=4
0.8
0.4
0048 o °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

GRHL1 - Q9NZI5
2.0e+09 - slope = 40345204  SecP =0.575
1.5e+09
1.0e+09 4
5.0e+08

©
0.0e+00 °

T T T T T
0 5 100 15 20 25
Time (h)

GRN - P28799
2.0e+09 - slope =3660633  SecP =0.59
1.5e+09
1.0e+09
5.0e+08 o

©
0.0e+00  ®O ¢
T T T T T
0 5 10 15 20 25
Time (h)

GRP78 - P11021
2.0e+09 - slope = 511034 SecP =0.745
1.5e+09
1.0e+09
5.0e+08 o

%o °
°
0.0e+00 o
T T T T T
0 5 10 15 20 25
Time (h)

H4 - P62805
2.0e+09  slope = -452639  SecP =0.408
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 4 ®* ¢ hd

T T T T T
0 5 10 15 20 25
Time (h)

HAP28 — Q13442
2.0e+09 - slope = 1581274  SecP =0.262
1.5e+09
1.0e+09
5.0e+08 o
0.0e+00 | ®° ¢ °

Time (h)
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HDGF - P51858
1.2 - k=0.0341h™ SigP = 0.107
n=6
0.8
°
0.4
®
0.0¢
T T T T T
0 5 10 15 20 25
Time (h)
HEXB - P07686
1.2 - k=0.0249h™ SigP = 0.444
n=1
0.8
0.4 °
°
0.0 ¢
T T T T T
0 5 10 15 20 25
Time (h)
HINT1 - P49773
1.2 o k=0.0013h™ SigP = 0.101
n=1
0.8
0.4
00-®% o °©
T T T T T
0 5 10 15 20 25
Time (h)
HINT2 — Q9BX68
1.2 o k=0.0034h™ SigP = 0.403
n=1
0.8
0.4
° °
0.0 ¢ °
T T T T T
0 5 10 15 20 25
Time (h)
HNRDL - 014979
1.2 o k=0.0012h™ SigP = 0.119
n=3
0.8
0.4
0040 o °
T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance

2.0e+09 -

1.5e+09

1.0e+09

5.0e+08 -

0.0e+00 H

HDGF - P51858
slope = 3519080 SecP =0.477
®0 o °

Time (h)

HEXB - P07686

2.0e+09 H

1.5e+09

1.0e+09 H

5.0e+08 H

slope = 1896778 SecP =0.712
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Time (h)
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°
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T
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Time (h)
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Time (h)
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Ho O °
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Time (h)
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0.8 - o
044 ¢
004¢°

T T T T T
0 5 10 15 20 25

Time (h)

Abundance

Abundance

Abundance

Abundance

Abundance
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Time (h)
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0.0e+00 =
T

Time (h)

PLOD3 - 060568
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1.5e+09

1.0e+09 H
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T
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Time (h)
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Time (h)
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T
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Time (h)
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